Maytag MFS35PNDVS 01 - FRAME

B

36— 47
%48
== o ———T

Maytag Commercial Maytag MFS35PNDVS Washer Parts Parts Diagram 01 - FRAME
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
001 23003561 Frame

002 23003562 Bed, Tub

003 23003877 Counter Weight Front
004 23001241 Locking Nut, Self Lu
005 NLA Not Available WASHER (10.5)

006 23001400 Lock Washer, Spring
007 23001425 23003285 Bolt

009 23003564 Ring, Sliding

010 23003565 Ring, Sliding

011 23003878 Sliding Ring Middle
013 23003879 Motor Holder Right
014 23003880 Motor Holder Left
016 NLA Not Available NUT (M16)

017 23001912 Washer

018 23001757 Washer

019 23001264 Bolt M8x20


http://www.pwslaundry.com/c-299396-commercial-maytag-mfs35pndvs-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799111-maytag-23003561-washer-frame.html
http://www.pwslaundry.com/i-7799112-maytag-23003562-washer-bed-tub.html
http://www.pwslaundry.com/i-7799329-maytag-23003877-washer-counter-weight-front.html
http://www.pwslaundry.com/i-7797806-maytag-23001241-washer-locking-nut-self-lu.html
http://www.pwslaundry.com/i-7797900-maytag-23001400-washer-lock-washer-spring.html
http://www.pwslaundry.com/i-7798945-maytag-23003285-washer-bolt.html
http://www.pwslaundry.com/i-7799114-maytag-23003564-washer-ring-sliding.html
http://www.pwslaundry.com/i-7799115-maytag-23003565-washer-ring-sliding.html
http://www.pwslaundry.com/i-7799330-maytag-23003878-washer-sliding-ring-middle.html
http://www.pwslaundry.com/i-7799331-maytag-23003879-washer-motor-holder-right.html
http://www.pwslaundry.com/i-7799332-maytag-23003880-washer-motor-holder-left.html
http://www.pwslaundry.com/i-7798151-maytag-23001912-washer-washer.html
http://www.pwslaundry.com/i-7798091-maytag-23001757-washer-washer.html
http://www.pwslaundry.com/i-7797822-maytag-23001264-washer-bolt-m8x20.html

020 23001266 Nut M8

022 23001265 Washer

027 23002983 Damper

029 23003451 Spring Support

031 23003456 Upper Rubber Spacer

033 23003465 Holder, Spring

035 23003455 Rubber Washer

040 23001282 Washer

044 23003881 Panel Holder Left

046 NLA Not Available NUT, RIVETING (M6)


http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7799067-maytag-23003491-washer-washer.html
http://www.pwslaundry.com/i-7797823-maytag-23001265-washer-washer.html
http://www.pwslaundry.com/i-7798756-maytag-23002983-washer-damper.html
http://www.pwslaundry.com/i-7799119-maytag-23003570-washer-screw-m10x80.html
http://www.pwslaundry.com/i-7798757-maytag-23002984-washer-screw.html
http://www.pwslaundry.com/i-7799030-maytag-23003451-washer-spring-support.html
http://www.pwslaundry.com/i-7799038-maytag-23003459-washer-rubber-lu.html
http://www.pwslaundry.com/i-7799035-maytag-23003456-washer-upper-rubber-spacer.html
http://www.pwslaundry.com/i-7799033-maytag-23003454-washer-holder-spring-lu.html
http://www.pwslaundry.com/i-7799044-maytag-23003465-washer-holder-spring.html
http://www.pwslaundry.com/i-7799036-maytag-23003457-washer-spring.html
http://www.pwslaundry.com/i-7799034-maytag-23003455-washer-rubber-washer.html
http://www.pwslaundry.com/i-7797821-maytag-23001263-washer-washer.html
http://www.pwslaundry.com/i-7797836-maytag-23001282-washer-washer.html
http://www.pwslaundry.com/i-7797898-maytag-23001388-washer-bolt.html
http://www.pwslaundry.com/i-7799333-maytag-23003881-washer-panel-holder-left.html
http://www.pwslaundry.com/i-7799334-maytag-23003882-washer-panel-holder-right.html

	Maytag MFS35PNDVS 01 - FRAME

